
Instructions Polaris 2019+ RZR 1000 / Turbo S

STEP ONE – Using the Handle Assembly bolt the Flap Mount on the inside of the polycarbonate as seen in 
the picture using 2 10-24 bolts and lock nuts. Tighten bolts.  Mount the bracket with threaded insert on 
the right two holes of bottom brace using the other two 10-24 bolts and nuts.

STEP TWO – Place the billet clamps on the frame with the clamp orientation shown in the picture. The flat 
face of the clamp should face forward and the clamp opening pointed towards the center of the ma-
chine. Use a 2.5” bolt with a washer to secure windshield to clamps. Adjust windshield to desired loca-
tion and then tighten all the bolts. 

Install windshield wiper before next step if applicable. There is another instruction sheet for wiper install.

Upper Clamp Orientation Lower Clamp Orientation

4 – Universal Billet Clamp  1.75”

4 – Bolt  1/4-20 × 2.5”

4 – Flat Washer 1/4”

4 – Bolt  10/24 × 1/2”

4 – Lock Nut  10/24

1 – Handle Assembly

4 – Lock Washer


